
����� ��	
� �
 

����� ��� ����� ��� ���� ����� 

������� 	
 ��
�� ��� ����� 
���
��� ���� ����� 

������������������ !� "�����������������#!� $������������������� 



������� 	
� �
���� ���� ������ ��� ��� ��� � �!�"�# �$%�& �'(�� �
) �*+�,-
 .�� $/01 �2�
�/340 567 8  ��� 9-�: ;< 	 �=� �/%> 5� .@�ABC� DA= �,3*�1
 �EF*# G�� �)�,H 5� IJ3*� @�B" I)1 �;1�� .�K�A�1 L�
�A/34.�� DA= ,��
 �K�=

 ,��
 M
�� ��K D> $%�N O�P Q�!*�� �R��� �=,S�E
 M
�� �
�/34.��P L�=,S�E

 �1�� T��B�� D= U�44!= 1� �
�/34.�� V���� 8 U�P��W ��= X3!
 5� .� �/%>1 �,AH 5

V ��� ��E# �
�/340 Y/4Z Y/B�E
 K< ��
�/34.�� �
) ��,>[ �),:�
 \�� �/��]/�� U�^��
2000 _) � )����� �= M�550 U�3���
 �/.��=� U� a1� (�A*.�1 ����-�� ���� 8

c�> D= d�� ,�# ef4'�� �%� 8 �g���< ;< �B^�� .�
�/340 Y/4Z �*.h d#���� 81
 �F%.�# �A3�� @ ��< G*�
� 5< �4/� ��%3� i/(�� �*.�1 �_) � jak @�(> ;< d!

�/�����.

��� � :
;< 2���/� M
�� �) �/�1�� @ �!�� D��.
 5� Ua1� 5�3El� 8 Y^
 5� �/%>

�4/%� @ �!# �/����� e��BC� .�O/E3�� �=��# GE/� �
�/340 Y/4Z �/%4> 5� �0

1
�J%� �3�: GE/� �'*.�1 ��/�!�� e���.��  �^-< m%> G:�- ��- 8 �U�^�� ��

@�Bn @�B"  
o e�4/%���� G�3
�1 .
Y= ��P���= p6
 �)qr1 d��1 2�3=�0 d+= �P1���� �
�/34.�� @]'s� 5� 8 �7 a

���4t� e��
�/34.�� u�F
 �'�F%.
 D.�1 ���1 ,=1 �4.W @ �!# v�3�� �'^�#
,� 9��*
 a ,�P w����#1Y/4R� e�  .@]'s� �
�/34.�� efW v�# x,� �P��� �40

 ���.=y#1 ��/����� �� ����� e�=f��� e�K e��
�/34.�� D= d�� ��E# @])�s ��4z
 YB��� @��s 5�4{ �*.h a �*.�1 �2�
�/34.� �),��
 \�� e�F:���� ,�,H

@]'s�� Y/4Z 8 ef|� 	
) �'=,S�E
 \�� e���.��1 .
>� �{��r� �,H 5� ,�# �,�,R� 2�
�/340 ��*# �} ;1�� @�BC� 
S�� �*

 d.(�� ��
01 ��'���(�� \�� e���.�� ,�,H U�^�� �/%> �X{�1 d.(# ��/��]/=1
 m%> I�P� d.(# Y{�� U�/3�.= U��
�/340 5�./� d) M� ��
�/34.�� �/%> 5�./� M
��

 M��4> d.(# c� 9�.�� )Is�# (��� �
)1 L�/%> ~��*# �,H I.� ����,3�� 8 _'=  ��



T�'R� u1,*: d.7Case D= U��,# �2�
�/340 e���.= Y/� �%"�� D^��/� M
�� 
�/E/g��� �-�%�� .

�/%> IJ3*� \�� �/>�F�� e���.�� D= �>�4�� U��1]= @��> T�'R� u1,*: p6�
U�^�� 9�1 �Y/4���� �/%4�# �1�(�� d3� �)��s1 D= ,06��� �=f�1 ��: D= ,06��� 

ef:���1 ef3.�� D= �>�4�� @�1]= p6
 �/E/g��� �-�%��P �x�"�� e���.��
 �g����� D4{ �� �4g�� ���*) 5�.� 5� �1�F�� D=1 ��'s��H \�� �/>�F�� e���.��1

��P��� .�/�1 _/%� ��� D= ����(
 5�.= M� ��4���� d3� ,06��� �/%> ��=�> @ �!#1
�= U�/g��]/P U�#�B )��K qr 1� 5f/= 1� ��*}� 1� �E0 �/P �/� M�(5� D= U�^�� ,06
1 �

p6
 \��1 ��� �:�C� d/J(��� �=��#1 �=Tf�� e��P��� Y/� D4^�
 e���.��1 @]'s��
���= 1� �� ]/� Q���� D4{ .
"#$%	� &�'%�:

��,# ,06��� �/%> �T�'R� u1,*: ]/'Z �,3*� 5�� ���:�= ���1 ���B�� @,-1 D= �
�40 ��F/�� ���B�� @,-1 �1��= 5� U�^�� ,06
1 �T�'R� u1,*!# D��=1 _/%� d.(#

d"�,��  �/��� ,'s �,�= D= ,06���  ,� :�) d)110 c� G��P 220 9E- LG��P 
2,%# 8 c,S�E�� ,'R� Y= �#�B�� 5� 9� M
��1 �=,S�E�� M
��  �/��� .��
0 ,06


D=�4/%� @ �!# d4��1 ,/s d.(# G3+= ���B��  T 5�0 .
��"�< e���P m%> ��
01 �������� e���P ���J= m%> @��� I�%
 5� _'�� D=1

 qr e���P ��s1 D= ,06��� IJ3*� �/- ��� ]/%��1 �3%!��1 ����� Q����� e�����
e���B3�� D= �3/0��# c���� M
�� �,�%� �/P�0 ��%J= .

���� 5��1Uf'= D.�1 �2�
�/340 9/0��� ,!e���.�� �^H 5� d3�
 O/BS���# �/*�� �=1 �2�
�/340 �/%> 1,J/� M
�� d.(%� OB� 5� �/%> �e�=]%�E��1
 �# U�/P�0 U�r��P 2��
 5� d^P�� D4P ��'^�3# �
�/34.�� e���.= Y���= ��f> �) ��*)

 ���%� @,���� e���.�� Y^
 5�1 ��"k1 5�.= d0 d^F� �40 ����� �+0�� �]R� 8 @
T�'R� u1,*: 8 �� U�=�� 9��*�� 5�.�� 8 �/E/g��� �-�%�� 5�.
 5� .



ef/:�
 M� Y= �'30��� \�� Q����� e����� Y���= 9��*�
 5� U�^�� _'�� D=1
 M6# 1� �/E/g��� �-�%��# �:�" ef:��� 	
) G��0 ���� ��'%:�� �'=,S�E��


 e���B# �'=,S�E )���B3# �z,�� Q����� ����� O#�
 \�� e�!�� �%:1 d+=
e�!�� .( a �/o ����*�# 	
) ������� e���B# Y���= ��� � �*= I^��� �=� �)1

 O3^�� X/
�F= e���,>< d+= x�"� e���.= Y= _-�]�
 )T�4R�Jumpers (m%>
),�#1 ���� ��6E= @�>��= 9� �40 ��/E/g��� �-�%��U�^�� �� �B3
��� e���.�� D> �.

c�/��� d3� e���.�� v�# 9/0��# c�/��� d^P�� D= ��� ,��� 93E�� �
�1
 D.�1 �9��*= d.(# e�P�E�� O3{ D= D.4�
 I0 ��K1 ��/E/g��� �-�%�� 9/0��#

 �*) �0

U�=�) U��/7:
'=�R G%F
 a I0 ���.= �# d=�.��# @�1,(= �%:1 M� d�Z a5� 51� �

��(
 .
�/����� e���.��:

������ ;< �P�{< �d=�0 �
�/340 Y/4��� �/����� e���.�� �� �0
� �*>� Ua1�
 �
�/340 Y/4Z D.h a �/E/g  e���.= ���*) �e���.�� 9/0��� �%E%E�= e��B"

I)1 ��1,# d=�0 :T�'R� u1,*:Case��
 @,-1 ������ ��/E/g��� �-�%�� ������� ,
Q����� ����� ��3%!�� Q����� ����� ������ Q����� ����� ������ ���B# �@�0�
��
 U�q"�1 �X/
�F�� �-�� ������ �7�7 e���/3�� ef30 �e�.E4��1 Ir���� ��� ]/%��

�1��� .qr1 5��]F%
 ���B#1 c��=1 e�: ���B# �P�{< U��3� ��K ;< �P�{[�# �*.h
��K .y#m%> G/3+��� ����1� �/- D= ��(
 M
�� dE%E���# e���.�� Y/4Z U��3� ���.=

�/%4��� d/'E�� w���� �/%> ����� D.�1 �u1,*!�� :Q����P 5��� Q���� G/3+�# _�
 c�� �-�%�� m%> ,����� @,-11 �����1 @�0�
�� 9/0��# _� � �M ]/%�� Q����P 9%!��

�.= 8 c�� �-�%�� 90  �_� ��K ,�# �Ir����1 �/./��f3�� e�.E4��# U�*/��E= ��
e,s1 5< e���B# D= ��K ;< �=1 c����1 ��,/F��1 e�!�� ���B# 9/0��# .d/:��# _�

 ef:11 e���/3�� ef:11 ���B�� ef:1LED Y= ����� �7�7 d:1� U�q"�1 �
���B��1 �7�(�� ���B# .



e����E�� 9/0�
:
0��# 5�� _�*� �/- �����E�� @�"�= ;< ��*��# �,#� ������ Q����� ����� 9/
 �#[� �>�4z ,���Pins���B�� d",= ;< �P�{[�# �d3.��# �%:1 8 c,S�E
 \�� .

T��� D= ���= Q���� e����� c,S�E
 @]'s�� _��= �����E�� ��"�< ���P ��F�# _�
3.5��< .����� Q����� ����� 9/0�
 9%B�� a8 ���"�y# _� O�P �@�" a1 U�,'s 

,06��� ,�#1 �� �C� D= u1,*!�� �'s�1 Y= �'�=�f= m%> Q�-�1 �� �:�C� ���F��
Ir��# ��# � �B���# U�,/s ��/3+�# _� �X/�!�� ����= 
"� ��� D= .

9%!�� Q���� �����  1� p6� �
.)1Hard Disk Drive �=,�� Q����1 
CD-ROM Drive.�1 �_01 �90��� U�3%: U�:�� _0  ��
 5� Ua1� �/%> D

�z,�� Q����� U����� .�z,= Q���� �����1 U�,-�1 U�3%: U�:�� ��*�� c,S�E� �= @��>
 �,-���� T�'R� m%> �z,= �:��1 �3%: �:�� 9/0�
 U��3� 5�.=[�# D.�1 �@,-�1

f�� ef:���1 �3��*�� �-�E�� �4� e�P�
 ��- 8c�� �-�%��1 u1,*!�� f0 m%> �=T .
�/����� 5�.�� ����E�� M� �,H 5� �/%> �*)1Master �/>�F�� 5�.�� �'��1 

Slave .O3^�� X/
�F= D= �>�4z �>�4z ,��� �����E�� @�"�= ;< ��*��#
Jumpers 8 ,���1 �@]'s�� e� �/" O3^� c,S�E
 e���,>< D> @ �3> I)1 �

�P��� e�4/%���� Y�T���� �) �= c�,S��a� d/�� D4{ 1� �'EF� ����E�� �'� m%> �
O3^�� X/
�F� 9��*�� )e��4R� (X/
�F�� 	
) ��,>yP ��3��*
 \�� ���l� 9E-

�=,S�E�� �z,��1 �3%!�� Q����� e����� �,> 9E- $%�N .X/
�F= Y�T��# _�
 �I>�F��1 I����� Q���� D= d.� �3��*�� O3^�� �> c�� �-�%��# 5f!�/� D�
%��

,-�1 e���/# d30 . �/C� �
) c,S�E�1 d��E= ��� U�+��� U� �/" ,Z e����E�� v�# 81
x�"� e����� ��� 51� U�,/-1 9%!�� Q���� c�,S��� ,*> .��,� 5�0 ��- 81

 �*�� d:1 $���
 �),*> 9�/P ��z,�� Q����� x�"�1 �3%!�� Q����� ������
�/E/g��� �%:��� 8 �4'*= )I>�P1 I���� Q��0 (��/>�P �%:�# �+��+�� ����E�� d:11

�z,�� Q����� ����� I) 	
) 5�.
 5� ���F�1 .Y= �3%!�� �:���� d!
 M�



�/>�P �%:�# @,-�� �=,�� Q���� d!
1 �I>�P1 I���� Q��0 v�3�� �4'^�# .�=�
 @,-�1 �3%: Q���� ����� ��,� 5�0 5< Q����� ����� Y= d3.�� �F*# @��> d:��P

U�/>�P q"��1 U�/���� �1�� 5�.� 5� m%> �z,��.
\�� �'EF� e��BC� U��3�= �z,��1 �3%!�� Q����� ����� 9/0��# _� ��K ,�#

 ��3��*�� ���F�� 8 ����E�� O3{ �/- D= ������ Q����� ����� 9/0�
 8 �� G4�
 Q���� 5� �0

1 �P ;< ���H a w����#1 �u1,*!�� � �"  �'�%� ���  a 9%!��

 G/3+
 �*
 a1 ���
� ���H �z,�� Q����� ����� �4*/# �����E�� ��"�< ���P ��Br
�3��*�� Ir���� �B���# ����E�� .

�/E/g��� �-�%��:
�� �-�%�� 1� �/E/g��� �-�%�� 9/0�
 I)1 �_)�� �%-��� ;< �*%:1 �/%> �*)1 �c

	�3��a�1  
l� e�s � m!�� 8 5�.
 5� .d/�� D�4�#1 ���
 5� �) �%�P 9� �= �1�
 �0�(�� D= �3%��P �P��� ¡ �K<1 ��) ���� D= q+.�� �/P 5� ��-�%�� Y= �P��� c�,S��a�

G����[� D= 1� Yg�3�� D= 1� ���*�� .� �) c�� �-�%� �3E*��# �%�P IJ3*� �= _)�1 ��/
 O3^�� X/
�F= e���,><Jumpers m%> �3/0�
 _�/� M
�� ����� �>�� Y= �F�� �� 

�-�� d0 c�,S��� d/�� 8 9%r�� m%> @��s�= 5�.
 e���,>[� 	
)1 ��-�%��
�/E/g .

�/E/g��� e�-�%��P �Ig�#�'.��  �/��� ,'s u�P e���,>< ;< 	�3��a� �/%> �40
� �F���
 c,S�E
 �+�,l��
)  �/��� ,'s u�F :¢�+��1 ��-�%�� @��� ,'R I%"�� �1��

 �9��*�� ,'R� u�P  �/�"a �3�*
 5� �/%>1 ����"[�1 ��"�[� e�/%4�� Is �"
�� �*3�P c�,S��a� d/�� 8 �#�%B�� d/:�F��� ,���1 ����4%� �:�n1 .�*) IJ3*� �40

����� �>�E# �:�C� O3^�� X/
�F= ,�,H .���4�� v�# �£ �c�� �-�%�� 9/0�
 ��*��
c�� �-�%�� G/3+�� ,>���0 �'=�,S��� 9s���� �/./��f3�� .5�.
 5� m%> Q�-�

T�'R� u1,*: m%> @��s��� �%�� ��#�B= c�� �-�%�� 8 G/3+��� e���P.
_/4!��� �) �/3�.�� e��
�/34.��# �:�C� c�� �-�%� Yg�(�� _/4!��� 5<AT

�� �-�� ;< ,*�EIBM AT .;< GF/{� �/E/g��� e�-�%� @,�,s �g�!" �£ D.�1



�'/%> �%��1 ��=,S�E�� e��
�/34.�� _��= 8 @,g�E�� I) G�3:�1 �/E/g��� e�-�%��
 _�a�ATX�#�E�� T��B%� U����B
 ���
 I)1 �.IJ3*� ��4/4!��� M� e��"� ����1

 d��*�� �>�� �'¤� d�� �c�� �-�%��  �/�"� ,*>  �3�>a� ��#  �=�� v�# 
"� �/%>
Bus Speed �
� �/�,�� �>�E�� ��-�%�� D4{ e���/3�� d�� �>�� ,�,��# c��� M
�� 

D> d�
 a� IJ3*� d��*��66) �J/= 2T�'s ���� DEH �4%0 e��T �4%01 ��/��+�� 8 ]
� .
�s�1]�� @�0�
�� Xg��7 _>,
 �-��  �/�"� �/%> IJ3*� �40DIMM Xg��7 I)1 �

@��F�� @�0�
�� �%
 D= U�*£ m%r�SIMMq+.# ~���� ���� �'*.�1 �.,06��� �/%>
��/��a �=Tf�� Y����� e���P �P�0 D4^�
 �-�%�� 5� D= U�^�� D= �3/0��# c���� �= V

��K ;< �=1 �.37 ���B#1 c��=1 ��>1 e�: e���B# .c���� 	
) e���B3�� _��=
 ��� D= p6
 G�3:�PCI d+= @ �B��� ���#�� �/�f� ����� e���B# p6
 �- 8 �

��� D= � �P �/sAGP ��,/F�� ���� d+=�� ����� �P�� ,�,s  �/�= �)1 �
c�����1 .# p6
 ,� �/E/g��� �-�%�� D4{ �z,= ����� ���B# U���/-�1 e�!�� ���B

 ¥%� a ,� ����� D.�1 ��%!F*= ���B# 9/0�
 ��*> c,S�E�� m%> �P�� �=� �)1 ��'EF�
�z,= e���B# ��� D4^�
 a �/E/g  �-��  �/�"� d^F� w����#1 �c,S�E�� e�s�/�-� .

�/E/g��� �-�%��  �/�"� ��*�� �#  ,�1 c���� d��*�� �/*�
 _>,
 ��� D= ,06���USB �
�/P�B�� @]'s�� _��= 8 @q"�� @��F�� 8 Y��1 u�B� m%> e�(��� \��

Peripherals qr1 �/g�^�� e������1 �/4���� e�q=�.��1 �1���1 X/
�F�� �-�%0 �
��K .

�/E/g��� �-�%�� G/3+
:
m%> @�0�
�� Xg��71 ����� 9/0�
 ,�# �-�%�� 9/0�
 G�1 �  ��/E/g��� �-�%�� 

��,# c�,S��a� d/�� ��3
� �/%> D.�1 �T�'R� u1,*: D4{ ���.= 8.�/%4> �,3

 8 �/E/g��� ���B�� @,-1 D= �=����� ���B�� ef3.# �'%/:��# Ua1� �/E/g��� �-�%�� 9/0�


1 x,-< �> ����� @,-�# ���B�� d#�0 d/:�
 � �u1,*!�� �3��*�� ���B�� ef:
���B�� @,-1 D= �=����� .



�,# @��><  T d/:��# _� � �T�'R� d/J(
  ]� ���B�� d/:��# _� ���K ,�#
 d/J(���Restart �P��� c�,S��a� d/�� ;< U�4g�� 6R�1 ��-�%�� 8 9��*�� ���.� 

K �I(�� d�P�1 �6BC� 8 Y�
 a I0  T d.# �:�C� �#[� Y���= ���{�� �3E*��# �
�
 �/=�=��LEDs ._��= 81 ��/E/g��� �-�%�� Y= �F%�S�� �
f/:�
 ��{ d.� 5yP �*3
1

 a �¦ ��# Q�C� d",��1 
F*�� f0 m%> ��{ d.# �:�C� �/%4��� _�� 9�.� 5�/-��
6BS%� Ua�z �,� .

@�0�
��1 �����:
�)1 �/¤� �+0�� �!*��� ����� ���� ��= d=����� 9� �
� ��
�/34.�� d�> �#�+�

 e6B"� �K< _B��� �= 5�>�� �*.�1 ���'E# �%� a ���E*�� V�%� d+= �'P ,�,7  
o
��= d=����� .

�3��� 5�.= ,�,H I) ;1�� @�BC� .��� D= �3��� 5�0 �K<ZIF a M
�� M� 
�0

 @�� ��� ���"�< 9%B��Zero Force> ��K 2 ,��1 ��3��§1 �3��� ,Z �=,*

��/�!�� @ �!��# ��{1 ,�# ����� G/3+
 �'�4'= �/./��f# 1� �/�,�= �� K .G/3+
 _��
 ��� D= e�R����Socket CPU d.(�� Y#�= �3�= m%> U�/�P� ��,>�� d=�.# 

�� ����� u�P G3+
 �%��E= @,-�0 ,����� �-1�= p6
 �4/P �c�� �-�%�� 8 U�3���
U�= .�=�
 ��� D= ����� 5�0 5<Slot CPU )c�/�*# e�R��= d+=2c�/�*#1 3D= v�#1 
51q%/� d��< e�R��=(�F*# �c�� �-�%�� 8 Q�" 
F*= m%> U����4> _�� �'�/3+
 5yP �

c���� 1� e�!�� ���B# 1� ����� ���B# 1 @�0�
�� Xg��7 �'/P G3+
 \�� U�3���
 ����B��.
��,# �/%> �=< ������ 	
)1 ��'=�,S��� M�*
 \�� @�0�
�� e�,-1 ��� ,�,H �

@��F*= e�,-1 5�.
 5�SIMM e�K 72��1T� d.7 m%> 90�
 @�#< )I)1
�+�,l� @]'s�� 8 U�/��- c,S�E� ,�� ¡ ¨,� ���(�s1�]= e�,-1 5�.
 5� 1� �

DIMM e�K 168��F*= d.(# 90�
 @�#< .�3�*
 5� �*) �/%>1 d0 _�  ;<
 �E3��� D= d0 8 9/
����# �'3/0�
 IJ3*� ��� �@,-1SIMM0 1SIMM1 1� 

DIMM0 1DIMM1 ����l� ��%0 81 �c,S�E�� @�0�
�� ��� 9E- ��K1 �
��1�T D= U��,# e�,-��� 9/0�
 _��608 ���"�< � D=1 ��/E/g��� �-�%�� Y= �s � 



$/F" OJ^# �'E#��= .,06��� IJ3*�1 ���- 8 �:�n1 �9/0���� c�.-< D= ��K ,�#
�'�/3+
 c�.-[ U�/./��f# U�>� K c,S�E
 \�� �s1�]�� e�,-��� .

d/3� m%> G4� �%P �v�3�� �4'^�# D> ��F%�& @�0�K p,-1 9/0�
 D.h a
_�o @�0�K � �7 9/0��# ��+��256 �@�0�
��# �:�C� e���F�� x,-< 8 G��# �J/= 

5yP � �(�� 5�.
 5� m%> Q�-�1 ��/��+�� ���F�� 8 U�=�� �%��¦ @,-1 9/0�
 �/%>
 _�  ���F�� 8 ;1��0_�  ���F�� 8 �/��+�� � �(��1 1.

���.= 8 ��/3+�# _� � ��%:��� ��� Y= ��P��
 D= U��3� ,06��� ,�# ����� �^-�
��� ��1�T 5� D= ,06��� Y= ��1,)1 ��,# X/�!�� 8 	q�� d#��� _'E# �'/�<  �(�� ��

 dF��� ;< �'BJ^# �� 
�� �%r�1 ���P �-1��� G3� � �c�� �-�%�� �3�= )5�0 �K<
 ��� D= �����Socket CPU(��� D= ����� 5�0 5< �=� �Slot CPU �= d.P 

��= d.(# X/�!�� ���.= 8 Y{�
 ��� D= ,06��� �) �%�P �/%> .�'��a� 9�> D= �
O3^�� X/
�F= e���,>< d�,��# _� ������ 9/0�
Jumpers �>�� Y= �#�B�
 I0 

c�,S��a� d/�� 8 @ �0
�� e�4/%���� U��3�= �,�,R� ����� .
��-f=:c�/�*# ����� p6� 4u1,*: d"�� �'�{1 _�� �/P�{< ,��
 @,-�# 

c�/�*3� U�!/!" @,-��� 	
) _/4!
 © ,�1 �T�'R� 4d4��� ��*�� �
 ��- ��F
 a U���� 
e�R���� D= �/�#�� D= �+0� .u1,*: $%" ;< 	
) �/P�{[� ,����� @,-1 9/0�
 _��

T�'R� .
e���/3��1 ���B�� ef301 e���B3��:

���P  �/�"a x�� ���H a U�^�� �B/E# ��6E= I)1 �e���B3��  1� ��s 5��
*) �/%>1 ��3��*�� ������� ������� e���P D4^�
 �/E/g��� ��-�� 5� D= ,06��� �

d) ����B3�� ��� 9E- ��K1 �e���B# D= �3/0�
 M�*
 �= V��/��a �/P�.��1 �3��*��
 I)PCI c� AGP c� ISA e�-�%�� _��= D= U��"�= G7f
 ,� @q"�� D.�1 �

!�� e���B# _��= p6
 �4/P ��'g��� Y{��
1 �'=,�� U���� �E/g��� �.3(��1 �����1 e�
 ��� D= ��K qr1 c����1PCI ���P �� X3:� ,�P @ �B��� ����� e���B# �=� �

I) �:�" ����
AGP ._� � ��/*��� Y����� ���F# Q�C� Is �C� ��BJ�� �]��



�� Q�C� Ir���# U�,/s �'�3� � �$/F" OJ{1 @���# ���B3�� 9/0��# .@,/-��� ���B3��

 9� \�� x�"�� e���B3�� ���
 �4/P ������ ���B# I) �
�/34.�� d4�� I0 �'3/0�

 ��K1 �c��= 51� D= 1� e�: 51� D= �
�/34.�� d/J(
 D.h K< ��/P�{< e� �/"
�
�s�/�-�1 c,S�E�� �3r  9E- U��3� .

�,3�1 ��/E/g��� �-�%��# U��#�� �'�30  \�� Q����� e����� d/:��# 5�� c����
��E# e���/3�� d30 � ����B�� d30 d/:�
 �) �%�P �/%> �= �1� ������ Q����� ��

Data Cable ,-� 8 �/��� ��7 ��601 1,3� �= D4^�� d30 �)1 ��# Q�C� 
d",= M� ;< �/��+�� d:1 _�� �4/P �����E�� ;< �'%:1 IJ3*� \�� ���'*�� I)1 ��/����

�/E/g��� �-�%�� 8 9��*= ._��1 D= 9%!�� Q���� ����E� �3E*��# �/%4��� �F� �/3B

 ��f� D4^�/� d3.�� �
) 5� �*) ª-a �e���/3�� d30 d:1 � ���B��# d/:���� �/-

d/:��%� D0�=� :Q����# �d3.�� $!�*= 8 Y�� M
�� �¢�+��1 c�� �-�%��# �1��
z,�� Q����� ����� d/:��� ���+�� c�,S��� _�� �4/P �9%!�� 9%: Q�� d:�� 1� ��

 �"k )���= Q���� ����� �/� D.�1 .( Q���� $���
 56(# 	�0K �*F%�� �= �*) �0


I>�F��1 I����� .

e���/3�� ef30 d:1 ��*��Data Cables ��#�B�= �#[� 5�.
 5� m%> Q�-� 
��= ��:��� T�'R�1 d3.�� �# .1 �,-�1 _���� d4H @�#< D4^�� e���/# d30 d.P p6


 _���� d4H \�� ��q�� Y= @�#[� 	
) �#�B�
 5� m%> Q�-� �u T� 1� �«� 5�%# @��>
 �/E/g��� �-�%�� d(F�EP a<1 ��/�< ���:��� T�'R�1 c�� �-�%�� D= d0 8 �U�^�� ,-�1

T�'R� m%> j����� 8.e���.�� d:1 ��*�� �3��*= ���� �%:1 M� c�,S��� �*.h
Y= ����B��#u1,*!�� d"�� ef/:���� ,/��
 c,> m%> Q�l� .�/P e���/3�� ef30 �=�

 Q����� ����� Y= d:�� M
�� j�B�� 8 �1�]= �7 ��601 1,3� �= D4^�� ,-�1 d30
 ����� Q����� ������ 9/0��# X4E� �7 �)1 ������A & B.ef:1 �=�

LEDs1,*!�� �-�� 8 v=�
 ���{6# �:�" ef:1 I'P ���/s �C� �/=�=�� u
@��>< �/%4�� �"k ��^# q(
 �40 �a c� d4�� T�'R� 5�0 �K< �4/P c,S�E�� _%���

 ef:��� 	
) 
P�*= 5�.
1 �9%!�� Q���� ��J(�� ;< q(� ��{ 2�*)1 �d/J(���



d4�
 ¡ ��- 81 ��'��# �'/�<  �(= @,-�1 d0 ��/E/g��� �-�%�� j�� m%> ��{��=
� ��)�,-<�'3%�# ���E3# _.

�/g��]/P �/-�� D= ���'��a� m%> j �7 ,� 2T�'s 5�.� �
.) .v�3# _� 5��
 8 d/J(���  T 5�1 ����B�� D= Ua1� ,06
 ��# G4� �= �=f� D= ,06�%� e� �3�"a�

 ��F�[� �/�{1OFF ��� D= ,06
 �,'R� u�F� ���F= T�'R� u1,*!� 5�0 �K<1 �
R� u�P m%> ���{1 ef/:�
 D= U�q"� ,06
 �2,%# 8 c,S�E��  �/�%� 9��*�� ,'

T�'R� e���.= $%�S� ���B�� ef/:�
 ��
01 ��/E/g��� �-�%�� Y= ���B��.
m%>1 �e���.�� I��#1 c�� �-�%�� �# ef3.�� ef/:�
 m%> �/��� @��� ���

d3.��# d!�= ����� d0 5� D= ,06
1 �Q����� e����� �"�� 8 G3+=1 �X/�!�� 
O3^�� X/
�F= ��F
 ,>� � �D=k d.(# ���.= )e��4R� (5�1 �/E/g��� �-�%�� m%>

�4/%� �����,>< .��4/%� @ �!# ��3+= �'%0 @�0�
�� e�,-11 ����� 5� D= ,06
 �
����� D= V����# U�:�!"1 ��/%� 2f�� 2�*) 5�.� a� m%> Q�-�1 .

u1,*: ��Br 90  5�� 8 d+4�
 �%-��� 	
)1 ��/����� �%-�4%� ,����1 T�'R� 
� �C� D= ef/:���� ��40< . ,!= D= ��K 5�0 ���� ���B��# �'%:1� ��7�(��# �,#�

 �EF� �
�/34.�� @,-1 D= 1� d��E= )�7�(�� 8 �3B�� c��*�� 9E-(�'%: � �
����� ���B3# �'%/:�
 �f" D= �
�/34.��# .:1� ���K ,�#  ,!� �EF� �
�/34.�� d

5�0 �K< �Q�C� 	
F*= ;< d0 �1���1 X/
�F�� �-�� d/:��# _� � �Is �C� ���B��
 ��
01 �e�>�4E�� 1� $
��� O" d/:��# _�P �e�: ���B# 1� I%"�� c��= ��,�

e,s1 5< ��#�B%� �3E*��# �=�� .
� �/%> m�3�1 �2�
�/340 Y/4Z D= G/'��� ,� 5�.
 �
�1 9%!�� Q���� ��/

d/J(��� c��� G/3+
1 .;< ��",�� Ua1� IJ3*� K< �@�C� D= Uf/%� �/%4��� 	
) 9%B�
1
 �/%4> ���s< � D=1 �9%!�� Q���� $���
1 ��/3�� c���Fdisk �4/E�
 ds� D= �� 

Partition ��/� �/%4> ���s< �Format d/J(��� ���,# Q�� �> ��K d01 ��� 



Startup Disk�# V�r��� d/J(��� c��� G/3+
 � D=1 �.d/:�F
 ���0K ,� �*01
��#�E�� ����,>� 8 �%=�0 e�/%4��� 	
) .

�/%4> ���s< _�� �),*>fdisk _�� � ��3r��� 9E- �4/E�
 _��1 9%!�� Q��%� 
���/�Format�/%> �# V�r��� d/J(��� c��� G/3+
1 .

���
�� � ���� %� � ����� 
��� !� "��#!� $���� 


